TEWTI dOKIHATix 0 6vopa__ SAMPLE

A. Write out all the letters of the Greek alphabet, lower-case in the first column and upper-
case in the second column. Unclear answers are wrong.

1. « 26. A
2. _ B 27. B
3. _v 28. I
4, O 29. A

5. ¢ 30. _E
6. ( 3. _7Z
7. _ 1M 32. H
8. 0O 33. Q)
9. 1 34. I
10. K 35. K
11. A 36. A
12, _p 37. M
13. \Y 38. N
14. & 39. =
15. o) 40. @)
16. m 41. I1
17. _o 42. P
18. o 43. ¥
19. ¢ 4. T
20. T 45, Y
21. v 46. D
22. [0 47. X
23. _x__ 48. v
24, () 49, Q
25. W



B. Fill in the blanks with the correct letter(s). Unclear answers are wrong (50 pts).

Use only lower-case letters. You do not need to write long marks over vowels.

shorta=_«a
long e=_ n
shortaw=__o0
longo=__ w
shortt=__ 1
longit=__1
shortv=__v
longv=__v
ax+tL=_aL_

a+_L_ =«

e+1=__¢L
n+_L =n
0+1=_oL

wt_L =W

L+L=_UL
xt+v=_aov
E+tuv=_¢&v
O+tuv=_o0v

at+ta=_«
at+te=_«
Q. _+to=w
a+_ o0 =w
a+o=_w
e _ta=nm
e+t_o =1
eta=_n
& _+e=c¢lL
e+ & =&l
et+te=__ &l
e+ _0__=0V
eE+0=_o0v
0 +ta=w

oO+t_ & =w
o+ta=__w
O+0=_0v

O t+&=0v
o+t&e=_0v

NOTE: The exam may have only a selection of the above and they may be

randomized. These are all the possible variations that can appear on the

exam.



T+ voice=_[3 V-o=_m_
T+ voice=_0O_ E-0=_K_
K+voice=_Y

o=
[ —voice=_Tt K +o0=¢
O—voice=_ T
Y—-voice=__K =

T + aspiration = _O
T + aspiration =_0

K + aspiration=__X_ _0_+0=C
o+ O =

¢ — aspiration = _TU_ o+d=_(

O — aspiration=_T_

X — aspiration=_K__ nasal m=___
nasalt=_ v

mT+0= nasal k=__Yy

tT+to=__0_

K+0o= liquidt =__ A
liquidk =__0_

NOTE: The exam may have only a selection of the above and they may be
randomized. These are all the possible variations that can appear on the
exam.

C. Fill in the blanks with the correct word and letters. Use lower-case letters. Unclear answers
are wrong.

Greek words canend only witha __vowel ,or _v_or__ 0 or__g




